nna .-. -—. [ 1] . -‘-—-I..-.ll-l- L_I RN im 1 . N IEE I NINND IS RS B S R e JI-.- 1.. L ) 1 mn

GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




mm -. - n N . n P NS | . -

GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




.-l-l.ll Ili ..l 1...--—-.-I-I -l-l - IJ-. - -l.-.- . J-—- -‘ -
- S ! L [} m ] [ | '] --

GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




-J-I I.‘.—I -- TN N Il -l I m e e [} o ] mim -1-' 1 II-IJ--II -.l-
. ] [} (1] ]
(]

GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




L e Il e i e R T e L = T |
]

1II EEE I - II-IJ.. .J—- -IJ-.- - mm ﬂl--. n ] nIm -.-.l.- 1IN BN . -- ] BN IENI EEE I % NI .-1—-‘
1 (N = .

GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




- l--‘-l-- -.ll- -—--.-—II.-—I——.-.-.- -- -l-—. 1

GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




| ] mml LAy | e I SR N e -.- - l.--- T "‘h-- --l --. :--... 1
| 1 |

] m P

GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




e . L m 1 1 = L2 1Tmmr 1 l-ﬂ-— I Il e N I 1N .

GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




3

B % @, e % B e % @ o % % o %

<o, o, Q. Ox. <X, X, X, <X, X, X, G, o, <o, Ko,
Yo Y T 2 o 2 o o o e % S % %

LT obed

GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I

00

0°00¢

0'00

0°009

0008

0°000T

0'00cT

0100049

0°009T

0°008T

0°000¢

0°00¢¢

0°00t¢

0°009¢

0°008¢

0°000€



8T abked

GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I

00

0°00¢

0'00

0°009

0008

0°000T

0'00cT

0100049

0°009T

0°008T

0°000¢

0°00¢¢

0°00t¢

0°009¢

0°008¢

0°000€



GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




QT =9UYM GG =X3e|d 3[eds feaulT

6002 ‘YT Aep ‘Td 09OV SN I




QT =9UYM GG =X3e|d 3[eds feaulT

6002 ‘YT Aep ‘Td 09OV SN I




QT =9UYM GG =X3e|d 3[eds feaulT

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




T obed

GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I

00

0°00¢

0'00

0°009

0008

0°000T

0'00cT

0100049

0°009T

0°008T

0°000¢

0°00¢¢

0°00t¢

0'009¢

0°008¢

0°000€



2t obed

GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I

00

0°00¢

0'00

0°009

0008

0°000T

0'00cT

0100049

0°009T

0°008T

0°000¢

0°00¢¢

0°00t¢

0'009¢

0°008¢

0°000€



GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




G9 affed

GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I

00

0°00¢

0'00

0°009

0008

0°000T

0'00cT

0100049

0°009T

0°008T

0°000¢

0°00¢¢

0°00t¢

0'009¢

0°008¢

0°000€



99 abed

QT =9UYM GG =X3e|d 3[eds feaulT

6002 ‘YT fep 'Td 09OV SN

00

0'00¢

0°'00

0'009

0'008

0°000T

0°00cT

0'00vT

0°009T

0°008T

0'000¢

0'00cc

0'00t¢

0'009¢

0°008¢

0°000¢



00

0°00¢

- 000y

0°009

0008

- 0°000T

- 000cT

- 000vT

- 00097

- 0°008T

- 00002

- 0°00c¢

- 0°00tc

- 0009¢

- 00082

| | | | | - 0'000&
19 abed GT =9UYM GG =g 9SedS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I




89 abed

GT=olYM GS=>%|d o[dS Jeaul

6002 ‘YT Aep ‘Td 09OV SN I

00

0°00¢

0'00

0°009

0008

0°000T

0'00cT

0100049

0°009T

0°008T

0°000¢

0°00¢¢

0°00t¢

0°009¢

0°008¢

0°000€



69 abed

QT =9UYM GG =X3e|d 3[eds feaulT

6002 ‘YT fep 'Td 09OV SN

00

0'00¢

0°'00

0'009

0'008

0°000T

0°00cT

0'00vT

0°009T

0°008T

0'000¢

0'00cc

0'00t¢

0'009¢

0°008¢

0°000¢



